Name: _____________________________  Number: _______________________
#65: Mitosis

     Mitosis is the division of the nucleus of a cell.  It only occurs in eukaryotes, and results in one cell with two nuclei.  Two nuclei are not a good thing for a cell, so mitosis is followed by cell division or cytokinesis (not part of mitosis).  Cytokinesis results in two cells each with one nucleus.  Animals and plants undergo cytokinesis differently.  Animals pinch in their cell membranes, while plants develop a cell plate that extends outward.  Following cytokinesis, the cell regroups itself during a phase or stage called interphase.  Interphase is not part of mitosis, and not part of cytokinesis.  It is sometimes described as the resting phase of the cell, but the cell doesn’t really rest.  During interphase, the cell carries out its normal functions, and replicates (makes a copy) of its DNA.  Most cells regularly repeat the processes of mitosis, cytokinesis, and interphase.  This repeating series is called the cell cycle.  Please, read the following, and answer the questions to learn more!

1.  List the four stages of mitosis.  Start after interphase.

2.  a. During prophase, what do chromatin coil up, condense, and form?
     b. What disintegrates during prophase?

3.  a.  What is meant by “homologous pairs” of chromosomes?

     b.  Describe the location of the chromosomes during metaphase.

4.  What is happening to the chromosomes during anaphase?

5.  a. During telophase, what happens to the chromosomes?

     b. During telophase, what reappears?
Name: _____________________________  Number: _______________________

#66: Meiosis

     Mitosis is a type of asexual reproduction, while meiosis is a type of sexual reproduction.  Meiosis, or reduction division, occurs in the gonads.  In humans, the gonads are the ovary, and testes.  Ovaries produce eggs or ova (plural of ovum), and the testes form sperm.  Mitosis results in two diploid (2n) daughter cells, while meiosis results in four haploid (n) daughter cells.  In human males, all four cells will be viable sperm, while in human females three of the cells will be polar bodies and one will be a viable egg (ovum).   
     During fertilization, a sperm and an egg will fuse to produce a diploid zygote that will go on to develop into an embryo, fetus, and baby.    Please, answer the following questions to learn more.

1.  How many divisions of chromosomes occur in mitosis?                    meiosis?    

2.  Changes in chromosomes occur for two reasons – mutation (some good, some 

     indifferent, and some bad), and crossing over.  Changes in the structure of 

     chromosomes result in genetic diversity.  Diversity can foster evolutionary change. 

     Crossing over occurs during meiosis in prophase I.  What is the name of the “crossing 

     point”?
